
Time: 10 Minutes Paper Math 6 (T-1) Total Marks: 10

3rd Month, 4th Week, 1st Day Exercise 7.2 Q # (10 to 12)

//// Answer the following questions: ÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ[[[[ŠŠŠŠ,,,,XXXX ŠŠŠŠgggg̀`̀̀ffffssss

Q.1. Nimra is senior to Shumaila by 18 years. After six years, Nimra will be

twice as old as Shumaila. Find Nimra's present age.       (1x5=5)
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Q.2. A number is divided into two parts, such that one part is 40 more than

other. If the two parts are in the ratio 2:3, fine the number.         (1x5=5)
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